Fourier Analysis Feb. 20, 2024
Review:
A convergence Thim : Let f be integrable on the circle.
Suppose f is differentiable at
$$x_0$$
. Then
 $S_N f(x_0) \rightarrow f(x_0)$ as $N \rightarrow v_0$.
The above result is Based on the Riemann - Lebesque
lemma.
Remark: Using the same proof, we can show that the above
result holds under the weaker assumption that
f is Lipschitz continuous at x_0 , this is,
 $I M > 0$ such that
 $(*)$ $|f(x_0 - f(x_0)| \leq M \cdot |x - x_0|$ for all $x \in [-T, T]$

Solution function on the circle whose Fourier
Series diverges at some point
Below we construct a ots function g on the circle st
$$S_N g(o) \neq g(o)$$
.
Let us start from a special function
 $f(x) = \begin{cases} i(\pi - x) & \text{if } o \leq x \leq \pi \\ i(-\pi - x) & \text{if } -\pi \leq x < o \end{cases}$
 $f(x) = \begin{cases} f(x) & f(x) = \pi \\ f(x) & f(x) \\ \pi \neq 0 \end{cases}$
A direct calculation shows that
 $f(x) \sim \sum_{n \neq 0} \frac{1}{n} e^{inx}$ on $[-\pi, \pi]$

For
$$N \in \mathbb{N}$$
, define

$$f_{N} \alpha = \sum_{o < |n| \le N} \frac{1}{n} e^{inx} \quad (= S_{N} f(x))$$

$$\widehat{f}_{N}^{(x)} = \sum_{n=-N}^{-1} \frac{1}{n} e^{inx}$$

$$[\underline{em \ 2} : \ () \quad \exists \ a \ constant \ M > o \ such that$$

$$|\int_{N}^{(x)}| \le M \quad \text{for all } N \in \mathbb{N} \ and \ x \in f_{n} \overline{g}$$

$$(2) \quad |\widehat{f}_{N}(o)| \ge \log N$$

$$Pf. \quad We \ first \ prove \ (i).$$

$$Let \ us \ consider \ the \ ABel \ mean \ of \ f.$$

$$A_{r} f(x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} P_{r}(x-y) \ f(y) \ dy,$$

$$where \ P_{r}(x) = \frac{1-r^{2}}{1-2r \cos x + r^{2}}, \ o \le r \le 1.$$

Notice that for
$$0 \le r \le 1$$
,

$$|A_{r}f(x)| \le \frac{1}{2\pi} \int_{-\pi}^{\pi} P_{r}(x-y) |f(y)| dy$$

$$\le \frac{||f||_{\infty}}{2\pi} \int_{-\pi}^{\pi} P_{r}(x-y) dy$$

$$= ||f||_{\infty} (||f||_{\infty} := \sup |f(y)| |f(y)| |f(y)| dy$$
However
$$|f_{N}(x) - A_{r}f(x)|$$

$$= |\sum_{0 \le |n| \le N} \frac{1}{n} e^{inx} - \sum_{|n| > 0} \frac{r^{|n|}}{n} e^{inx} |$$

$$= |\sum_{0 \le |n| \le N} \frac{1}{n} e^{inx} - \sum_{|n| > 0} \frac{r^{|n|}}{n} e^{inx} |$$

$$\le |\sum_{0 \le |n| \le N} \frac{1 - r^{|n|}}{n} e^{inx}| + |\sum_{|n| \ge N+1} \frac{r^{|n|}}{n} e^{inx}|$$

$$\begin{split} & \leq \sum_{n < l} \frac{1 - r^{|n|}}{|n|} + \sum_{|n| \ge N+l} \frac{r^{|n|}}{|n|} \\ & \leq 2 \cdot \sum_{n=l}^{N} \frac{1 - r^{n}}{n} + 2 \cdot \sum_{n=N+l}^{\infty} \frac{r^{n}}{N} \\ & \text{Notive that } \frac{1 - r^{n}}{n} = \frac{(1 - r)(1 + r + r^{k} + \dots + r^{n+l})}{n} \\ & \leq 1 - r. \end{split}$$
Hence
$$\begin{aligned} & |f_{N}(x) - A_{r}f(x)| \le 2N(1 - r) + 2\sum_{n=N+l}^{\infty} \frac{r^{n}}{N} \\ & \leq 2N(1 - r) + 2 \cdot \frac{r^{N+l}}{N(1 - r)} \\ & \leq 2N(1 - r) + \frac{2}{N(1 - r)} \end{aligned}$$
Let us take $\tilde{r} = 1 - \frac{1}{N}$, then $N(1 - \tilde{r}) = 1$
Then $|f_{N}(x) - A_{\tilde{r}}f(x)| \le 4$

It follows that

$$|f_{N}(w)| \leq 4 + |A \geq f(w)|$$

$$\leq 4 + ||f||_{\infty}$$
This prove (1).
Next we prove (2), i.e. $|f_{N}(w)| > \log N$
Notice that

$$\widehat{f}_{N}(w) = \sum_{n=-N}^{-1} \frac{1}{n} e^{in \cdot w} = -\left(1 + \frac{1}{2} + \dots + \frac{1}{N}\right)$$
So

$$\left(\widehat{f}_{N}(w)\right) = 1 + \frac{1}{2} + \dots + \frac{1}{N}$$

$$\left(\frac{1}{2} \log \frac{1}{N} + \frac{1}{2} + \dots + \frac{1}{N} + \frac{1}{N} + \frac{1}{N}\right)$$

$$\sum_{k=1}^{N} \int_{k}^{k+1} \frac{1}{x} dx$$

$$f^{or} all k > 0$$

$$= \sum_{k=1}^{N} \left(\log(k+1) - \log k \right)$$

$$= \log(N+1) > \log N.$$

$$= \log(N+1) > \log N.$$

$$P_{N}(x) = e^{2iNx} \cdot f_{N}(x)$$

$$= \sum_{\substack{n=-N \\ n\neq 0}}^{N} \frac{1}{n} e^{i(n+2N)x}$$

$$= \sum_{\substack{n=-N \\ n\neq 0}}^{N} \frac{1}{n-2N} e^{inx}$$

$$= \sum_{\substack{n=-N \\ n\neq 2N}}^{N} \frac{1}{n-2N} e^{inx}$$

$$= e^{2iNx} \cdot \widehat{f_{N}(x)} = \sum_{\substack{n=-N \\ n=N}}^{2N-1} \frac{1}{n-2N} e^{inx}$$

$$\widehat{P_{N}(x)} = e^{2iNx} \cdot \widehat{f_{N}(x)} = \sum_{\substack{n=-N \\ n=N}}^{2N-1} \frac{1}{n-2N} e^{inx}$$

$$\widehat{P_{N}(x)} = |\widehat{f_{N}(x)}| \leq M,$$

$$(\widehat{P_{N}(x)}) = |\widehat{f_{N}(x)}| \leq M,$$

$$(\widehat{P_{N}(x)}) = |\widehat{f_{N}(x)}| \leq M,$$

Construct a sequence
$$(N_R)_{R=1}^{\infty}$$
 of positive
integers and a sequence $(d_R)_{R=1}^{\infty}$ of positive
numbers such that
(1) $N_{R+1} > 3 N_R$
(2) $\sum_{k=1}^{\infty} d_k < \infty$
(3) $d_R \log N_k \rightarrow \infty$ as $k \rightarrow \infty$.
(For instance, we can take
 $N_R = 4^{4k}$ and $d_R = 3^{-k}$)
Finally set
 $g(x) = \sum_{k=1}^{\infty} d_k P_{N_k}(x), x \in C_T, T_J.$
Since $|P_{N_R}(x)| \leq M$ and $\sum_{k=1}^{\infty} d_k M < \infty$,
by the Weitestrass M-Test, we have

$$\begin{split} & \sum_{k=1}^{\ell} d_{R} P_{N_{k}}(x) \Longrightarrow \mathcal{G} \quad \text{on the circle} \\ & a_{1} \ell \rightarrow \infty \\ & a_{2} \ell \rightarrow \infty \\ & a_{2} \ell \rightarrow \infty \\ & a_{2} \ell \rightarrow \infty \\ & a_{3} \ell \rightarrow \infty \\ & a_{3} \ell \rightarrow \infty \\ & A_{1} \ell \rightarrow \infty \\ & A_{2} \ell \rightarrow \infty \\ & A_{3} \ell \rightarrow 0 \\ & A_{3} \ell \rightarrow 0$$

So by (***),

$$|\widehat{g}(n)| \leq \varepsilon.$$
Since ε is arbitravily given, $\widehat{g}(n) = \delta$.
Next assume $n \in [N_k, 3N_k I]$ for some k .
Then for any $l \geq k$,

$$\sum_{j=1}^{l} d_j \widehat{P}_{N_j}(n) = d_k \widehat{P}_{N_k}(n)$$

$$= \int_{0}^{d_k} \frac{1}{n-2N_k} \quad \text{if } n \neq 2N_k$$
By (***), we see that
 $\widehat{g}(n) = d_k \widehat{P}_{N_k}(n)$
This proves Lem 3.

Hence	S _{2NR} 9(0	$) \rightarrow + bo$	≠ g(D)